2025%FF ERBEAOHRLAER LUNEERY—HERERRE)

_ i N EMRER (ko)
J0vs ERRE SIMETIR BIMRA(H) T R T
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2EH 0| 2mE| 00| 00| 00| 00 0.0
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2EH 0| 2mE| 00| 00| 00| 00 0.0

2 0.0 00] 9.0] 7380 747.0
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2EH 0| 2mE| 00| 00| 00| 00 0.0
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1 0.0 00] 0.0]6985] 6985
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mE | 13| s IEE 2| 1mB[ 111.5] 0.0] 80| 400 159.5
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2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

20 | #EHE 2= 0 1B 0.0 0.0 0.0 0.0 0.0
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

21 | RER 1B 0 =S 0.0 0.0 0.0 0.0 0.0
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3 22.0 0.0 11.0 | 128.0 161.0
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2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0
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3 68.0 0.0 16.5 39.0 123.5
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1 0.0 0.0 0.0 11.0 11.0
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2[B1H 0 20 0.0 0.0 0.0 0.0 0.0
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29 | RERR 1E1H 0 1Bl 0.0 0.0 0.0 0.0 0.0
2[B1H 0 20 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

30 | fFRLR 1E1H 0 1Bl 0.0 0.0 0.0 0.0 0.0
2[B1H 0 20 0.0 0.0 0.0 0.0 0.0
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2 0.0 0.0 0.0 | 136.0 136.0

31| RER == 2 188 0.0 0.0 0.0 | 136.0 136.0
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

1 0.0 0.0 0.0 26.0 26.0

32| BRE == 1 188 0.0 0.0 0.0 26.0 26.0
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

8 254.5 2.0 | 125.5 | 585.5 967.5

33| MLE == 8 1EH| 254.5 2.0 | 125.5 | 585.5 967.5
2[61H 0 2[615 0.0 0.0 0.0 0.0 0.0

2 100.0 0.0 9.0 | 128.0 237.0

34 | LBE 1B 2 18| 100.0 0.0 9.0 | 128.0 237.0
2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0

3 92.0 0.0 | 282.0 | 238.0 612.0
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':F'_@ 2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0
PuE 0 0.0 0.0 0.0 0.0 0.0
36 | RER 1B 0 =S 0.0 0.0 0.0 0.0 0.0
2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0

3 56.0 0.0 23.0 81.5 160.5

37| BNE 1B 3 1EIH|  56.0 0.0 23.0 81.5 160.5
2[6H 0 2[61H 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

38 | BRER 1 0 1 0.0 0.0 0.0 0.0 0.0
2[0H 0 2[5 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

39 | BHR 1 0 1 0.0 0.0 0.0 0.0 0.0
2[0H 0 2[61H 0.0 0.0 0.0 0.0 0.0
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2[0H 0 2[5 0.0 0.0 0.0 0.0 0.0
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41 | EBR 1E1H 1 1Bl 0.0 0.0 0.0 48.5 48.5
20 0 2[a1H 0.0 0.0 0.0 0.0 0.0

1 0.0 0.0 | 458.5 0.0 458.5
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20 0 2[a1H 0.0 0.0 0.0 0.0 0.0
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M 20 0 2[a1H 0.0 0.0 0.0 0.0 0.0
0 0.0 0.0 0.0 0.0 0.0

44 | RHR 1E1H 0 1Bl 0.0 0.0 0.0 0.0 0.0
2[B1H 0 2[01H 0.0 0.0 0.0 0.0 0.0

2 0.0 0.0 55.0 | 329.0 384.0

45 | =EE 1mE1H 2 1 0.0 0.0 55.0 | 329.0 384.0
2[B1H 0 2[01H 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

46 | ERBE 1mE1H 0 2= 0.0 0.0 0.0 0.0 0.0
2[61H 0 20/ 0.0 0.0 0.0 0.0 0.0

14 102.5 0.0 | 527.5 | 766.0 1,396.0

AMITOvoES = 14 1EH| 102.5 0.0 | 527.5 | 766.0 1,396.0

20 0 2[0H 0.0 0.0 0.0 0.0 0.0
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5 179.0 0.0 41.0 | 166.5 386.5
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